




















RUNNING TIME WITH READING FROM FILES

Running Times

- 100000
— 500000
= 10000000




==  — 100000

- 500000
= 1000000




\\5 RUNNING TIME WITHOUT READING FROM FILES

RUNNING TIMES

—e— 1000000
—&— 500000
—e— 100000
100000 500000 1000000

0.03085 0.16876 0.31786
0.02608 0.14782 0.28094
0.02179 0.10786 0.20134
0.01542 0.06832 0.14563
0.01325 0.06312 0.12898
0.01783 0.09862  0.1684
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SPEEDUP WITHOUT READING FROM FILES.

SPEEDUP

60

PROCESSORS

1000000 Data Size
—e— 500000

—e— 100000 100000
3.777

4.4685
5.3483
7.5577
8.7954
6.5361

500000
3.781998
4317751
5.917393
9.342067
10.11169
6.471811

1000000
3.694079

4.17954
5.831926
8.062899
9.103737
6.972684




EFFICIENCY WITHOUT READING FROM FILES

SPEEDUP

—e— 1000000 Data Size

—e— 500000
e 100000 100000 500000 1000000

0.94425  0.9455

1 0.558563 0.539719
1 0.334269 0.369837

0.236178 0.29194
1 0.137428 0.157995
| 0.051063 0.050561
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* | had to write

* MEMORY LIMITATIONS
Y ® Sometimes | ran out of memory when using a large number of points.










